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2. Bk -

THIRT RMHA /N CEIEF R AZ( )

A. C(s)+%02(g)=CO(g) AH] , C(s)+Oo(g)=COx(g) AHp; AH¥AHJ B.
S(D+02(2)=SO2(g) AH3, S(s)*O2(2)=SO2(g) AH4; AH3>AH4 C.
CH3COOH()+OH (aq)=H,O(l) AHs ,  H'(aq)+OH (aq)¢H70(l) AHg: AHs<AHg D.

CaCO3(5)=Ca0(s)+COx(g) AH7, CaO(s)+COx(g)=CaCO3(s) AHg;” AH7<AHg

3. B
EHIN(2)+3H(g) _. 2NH3(g) AH=-akl-mokle 5 %&£ T, 4 TmoINy I 3molH 38 N 2L 28
A, R 10min, WAHMRAE2 Amol, FAREERIR( )

A. 10minPy, HofJ P45 [ B3 2 40.03mol L1571 B. 20minff, HoiI4 5 M EIRE N
0.9mol-L"! C. 10min P, N> i) T 47 )= B2 3% % 50.01mol- L1 min”! D. iX PR, NoAl
Hp = B2 Y #4 B akd
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A. CHy()+205(2)=CO1(g)+2H>0(1) AH=-890.3kJ-mol’! B. 2CO(g)+05(2)=2C0Ox(g) AH=-
466KJ-mol”! C. NHj(g)+1.2505(g)=NO(g)+1.5H,0(I) AH=-292kJ mol"! D.

CHI50H(1)+304(2)=2CO3(g)+3H,0(g) AH=-1234.8kJ-mol’!

5. HLI% S
CaCO3/CaOH E ALK REE R R WA T, THUEERAIZ( )

CaCOs 10000 —2BL_Lca0n, 1000CH + COuer 10005C)
o .

CaC0uts: 503 oG, 2500+ COer 25°C)

A. AH4<0 B. AH1+AH»=0 C. AHy+AH3+AH4+AH;5<0 D.
AH1+AH>+AH3+AH4+AH5=0
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